
SAP ABAP table COBRB {Distribution Rules Settlement Rule Order Settlement}

COBRB

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

BUREG [NUMC (3)]

LFDNR [NUMC (3)]

URZUO [CHAR (3)]

BEINH [UNIT (3)]

BWAER [CUKY (5)]

DFREG [CHAR (3)]

AVORG [CHAR (4)]

KOKRS [CHAR (4)]

BUKRS [CHAR (4)]

HKONT [CHAR (10)]

AUFNR [CHAR (12)]

BWTAR [CHAR (10)]

NPLNR [CHAR (12)]

KDAUF [CHAR (10)]

RECID [CHAR (2)]

REC_OBJNR1 [CHAR (22)]

REC_OBJNR2 [CHAR (22)]

MRULE [CHAR (4)]

ANBWA [CHAR (3)]

SRSTRAT [CHAR (3)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 COBRB-AUFNR = AUFK-AUFNR 

0..N

{0,1}

 COBRB-NPLNR = AUFK-AUFNR 0..N

{0,1}

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 COBRB-OBJNR = ONR00-OBJNR 
0..N

1

 COBRB-REC_OBJNR1 = ONR00-OBJNR 0..N

{0,1}

 COBRB-REC_OBJNR2 = ONR00-OBJNR 

0..N

{0,1}

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 COBRB-HKONT = SKA1-SAKNR 0..N

{0,1}

T000

MANDT [CLNT (3)]

 COBRB-MANDT = T000-MANDT 
0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 COBRB-BUKRS = T001-BUKRS 
0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]
 COBRB-BEINH = T006-MSEHI 0..N

{0,1}

T149D

MANDT [CLNT (3)]

BWTAR [CHAR (10)]
 COBRB-BWTAR = T149D-BWTAR 

0..N

{0,1}

T8JJ

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RECID [CHAR (2)]

 COBRB-RECID = T8JJ-RECID 

0..N

{0,1}

T8JL1

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

MRULE [CHAR (4)]

 COBRB-MRULE = T8JL1-MRULE 

0..N

{0,1}

TABW

MANDT [CLNT (3)]

BWASL [CHAR (3)]

 COBRB-ANBWA = TABW-BWASL 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 COBRB-BWAER = TCURC-WAERS 

0..N

{0,1}

TJ01

VRGNG [CHAR (4)]

 COBRB-AVORG = TJ01-VRGNG 

0..N

{0,1}

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 COBRB-KOKRS = TKA01-KOKRS 

0..N

{0,1}

TKB10SA

STRAT [CHAR (3)]

 COBRB-SRSTRAT = TKB10SA-STRAT 

0..N

0..N

TKB2A

MANDT [CLNT (3)]

DFREG [CHAR (3)]

 COBRB-DFREG = TKB2A-DFREG 

0..N

{0,1}

TSC0D

MANDT [CLNT (3)]

SCTYP [CHAR (1)]

SCNAM [CHAR (2)]

SCZUO [CHAR (3)]

 COBRB-URZUO = TSC0D-SCZUO 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 COBRB-KDAUF = VBUK-VBELN 

0..N

{0,1}


